Part 1 

[image: image1.png]Part I: It is necessary to determine whether the opinions of the voters concerning a new
property tax depends on their income levels. A random sample of 1000 voters are classified as to
whether they are in a low, medium, or high income bracket and whether they favour a new tax

reform. The observed frequencies are presented in the table

Income Bracket

Low Medium High Total

For 182 213 203 598
Against 154 138 110 402
Total 336 351 313 1000





What is…
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Part 2.

Indications are that the average age at which breast cancer is detected in women has been changing.  In a study to compare the situation in Canada today with that of twenty years ago, independent random samples were obtained from federal government health 

records for each of 1978 and 1998 relating to women who had developed this disease.  The following table summarizes the information collected about age at detection.

[image: image3.png]Year Number Sample Mean Age Sample Standard Deviation
Sampled at Detection of Ages at Detection

1978 15 473 52

1998 12 44.9 6.7





(17).  In performing the statistical test suggested in the previous question, a standard error mustbe estimated.  What is the estimated value of the standard error? 

  (A)6.06 (B)34.89 (C)5.91 (D)34.34 (E)2.35 (F)0.89 (G)6.14 (H)2.29 (I) 4.25 (J)5.23 

[image: image4.png]PROBLEM SET E: Are Canadians still

the best curlers in the world? The results for random

samples of international matches played between Canadian curlers and curlers from other

countries were obtained for both male and female curlers.

summarized in the following table.

The information collected is

Male or Female Curlers

Number of Games Played

Number of Wins by Canada

Male

156

117

Female

100

67

(19). In estimating the difference in the proportions of games won by male and female
Canadian teams, the 99% confidence interval could be expressed as (py, — p)+ E. In this
case, the quantity denoted £ would be calculated to have what value?

(A)0.2632 (B)0.0584 (C)0.0088 (D)0.0882 (E)0.1505 (F)0.1137 (G)0.2020 (H)0.0993 (1)0.1805 (J)0.1359




Thank you,

Michelle

